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For each set of exercises, Theeg T

answer. Write the letter of
corresponding box at the right.

a. 40 + 5

b. 30 + (-15)
c. =88 + (-11)
d. =100 + (—4)

P
o

a. 49 . 64 ©. =26 , —60 -9
7 8 -13 5 9
b.150 , -13 d.-99 , 0 -15
-15 ' 13 -1 = -99 10

2 Find the quotient.

a. -54 c. 75
) -25
b. -36 d. 0
=12 =10

X

7 Evaluate if x = -2, y = 6.

a. xy Cc. -9x -3
b. 8y d. 144 15
x =]

L
%)

% Find the quotient. ® 2 || 8 Evaluateifk=3,n=-8. 1
a. —48 + (-3) @ 2 a. kn c. 96 -6
b. 36 + 18 @ || 2 Tl 4
c. 180 + (-10) A -18]|v- k tn d-% 6
d. 900 + 450 ®) 16 -12
4 Simplify @ 6 9 Solve mentally. -10
a. 150 c. 2a+9 (B)-75]a x _ c. 360 _ _ —42
—2 8 +3 7 =6 q 36
3 16
b. —7500 d.—24 . 9 @—6 b- b _ _14 d. 64 _ 4 -16
—75 8 '3 3 m
(®) 100 42
5 Simplify @ 3 10 sotve mentally. 21
1341 ¢-20-25 (-3 a 8y=-56 40
2 -15 Ok b. -3p = —63 —40
—15)(-4) 4 100 - (-20) (U)-10 c. 80 +u=2 -7
-6 30
21
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d. 80 + (-v) = 2
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Integers and Expressions:
Dividing Intege
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